Sec 13.6
pgs. 636 - 637 #11, 12ac, 16, 18
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#16 Find the centep and radius of the zraph of

#19

3)(24-\2)( +3j¢ 'Sj =2
make l,eaouvng coekhuents |

2 'l-r; -,2
X+"fX+y _5_’-3

2 'y ?ﬁ:}*"l'leg
x44x+'-|'+3 ;9»(3(’ 5 7
(X*l)‘L* (”-%)1: gf

|

S

0 (2:§)

k= 143
(A

Find the ex&d‘ion of the path of the P”“"{' H"“*).

moves S0

at s distance from the po{w{' (3,0)15

atwacjs wice h diskance from the mel' (-3, 0)

cald the pourt (x.y)

N (@-x)*+ (y-0)* = ad (x+3)%s (y-0)

Aoy (o (rexeiry?)

9-bx +X1+31 = o (%’ +ox+1 +71)

P
G-6x X Hy = X radx 136+ Hy
p X

0= 3,)(1*(@( + 31 +3Y
3 32 3 3

2
0=x’+wx+q + j

A5= X*+10X *aS +y" + 9

S

m = (X*':T)lfﬁ



